



# Differentiation 3 superposition

J A Rossiter

# Introduction

- The previous video introduced differentiation from first principles.
- It is logical therefore to consider what consequences follow from this derivation.
- Superposition is a scenario where a function comprises the sum of other functions.
- How do we find the derivative of a function which is the sum of other functions?

Students can skip these explanations and go straight to resources 6 if they want to get straight into some computations.

# Sum of functions

- The scenario we are looking at here is a function which is the sum of other functions.

$$y = f(x) = x^2 + 4\cos(2x)$$

$$z = g(w) = 3w^{-3} + 10\sin(w/2) + e^{-w}$$

$$h = k(t) = t^2 + 3t - 4 + 0.2e^{-0.1t}$$

How do we differentiate such functions?

# Core result

The **derivative of a sum of functions** is **the sum of the derivatives**.

An example is given followed by a proof.

$$\frac{d}{dx}(x^2) = 2x$$

$$\frac{d}{dx}(\sin(4x)) = 4 \cos(4x)$$

$$\frac{d}{dx}(x^2 + \sin(4x)) = 2x + 4 \cos(4x)$$

That is, differentiate each term and then add the results.

# REMINDER OF DEFINITION OF DERIVATIVE

$$\frac{dy}{dx} = \lim_{\delta x \rightarrow 0} \frac{y(x + \delta x) - y(x)}{(x + \delta x) - x}$$

$$\frac{dz}{dw} = \lim_{\delta w \rightarrow 0} \frac{z(w + \delta w) - z(w)}{(w + \delta w) - w}$$

# Use derivative definition on a sum of functions

Let a function be given as follows:  $y = f(x) + g(x)$

Use 1<sup>st</sup> principles definition of the derivative.

$$\frac{dy}{dx} = \lim_{\delta x \rightarrow 0} \frac{y(x + \delta x) - y(x)}{(x + \delta x) - x}$$

$$\frac{dy}{dx} = \lim_{\delta x \rightarrow 0} \frac{f(x + \delta x) + g(x + \delta x) - f(x) - g(x)}{\delta x}$$

$$\frac{dy}{dx} = \lim_{\delta x \rightarrow 0} \left\{ \frac{f(x + \delta x) - f(x)}{\delta x} + \frac{g(x + \delta x) - g(x)}{\delta x} \right\}$$

$$\frac{dy}{dx} = \frac{df}{dx} + \frac{dg}{dx}$$

Extension to more functions is obvious.

# Example 1

Find the derivative of the following.

$$y = f(x) = x^2 + 4\cos(2x)$$

$$\frac{d}{dx}(x^2) = 2x$$

$$\frac{d}{dx}(4\cos(2x)) = -8\sin(2x)$$

$$\frac{dy}{dx} = 2x - 8\sin(2x)$$

## Example 2

Find the derivative of the following.

$$z = g(w) = 3w^{-3} + 10\sin(w/2) + e^{-w}$$

$$\frac{d}{dw}(3w^{-3}) = -9w^{-4}$$

$$\frac{d}{dw}(10\sin(w/2)) = 5\cos(w/2)$$

$$\frac{d}{dw}(e^{-w}) = -e^{-w}$$

$$\frac{dz}{dw} = -9w^{-4} + 5\cos(w/2) - e^{-w}$$



# Summary

- This brief resource has shown that the derivative of a sum is the sum of the derivatives.
- In other words:

$$y = f + g + h + z$$

$$\frac{dy}{dx} = \frac{df}{dx} + \frac{dg}{dx} + \frac{dh}{dx} + \frac{dz}{dx}$$



Anthony Rossiter  
Department of Automatic Control and  
Systems Engineering  
University of Sheffield  
[www.shef.ac.uk/acse](http://www.shef.ac.uk/acse)

© 2016 University of Sheffield

This work is licensed under the Creative Commons Attribution 2.0 UK: England & Wales Licence. To view a copy of this licence, visit <http://creativecommons.org/licenses/by/2.0/uk/> or send a letter to: Creative Commons, 171 Second Street, Suite 300, San Francisco, California 94105, USA.



It should be noted that some of the materials contained within this resource are subject to third party rights and any copyright notices must remain with these materials in the event of reuse or repurposing.

If there are third party images within the resource please do not remove or alter any of the copyright notices or website details shown below the image.

*(Please list details of the third party rights contained within this work.)*

*If you include your institutions logo on the cover please include reference to the fact that it is a trade mark and all copyright in that image is reserved.)*